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Note : This paper is of sixty (60) marks containing three 

(3) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you mean by installation of costing system ? 

Explain the necessity of installing a costing system in 

an organization. 

ykxr ys[kk i)fr dh laLFkkiuk ls vki D;k le>rs gSa \ 

,d laxBu esa ykxr ys[kk i)fr dh LFkkiuk dh vko’;drk 

dh O;k[;k dhft,A 

2. What do you mean by ABC Analysis ? How stores 

items are controlled through ABC analysis ? Explain.  

,- ch- lh- fo’ys”k.k ls vkidk D;k vk’k; gS \ ,- ch- lh- 

fo’ys”k.k ds }kjk LVksj ds enksa ij fu;U=.k dSls fd;k tkrk 

gS \ O;k[;k dhft,A 

3. Explain the different methods of absorption of 

administrative overheads. Which method would you 

prefer and why ? 

iz’kklfud mifjO;;ksa ds vo’kks”k.k dh fofHkUu i)fr;ksa dh 

O;k[;k dhft,A buesa ls vki dkSu&lh i)fr dks ojh;rk 

nsaxs vkSj D;ksa \ 

4. (a) What are the different methods of incentives 

given to the workers ? 

Jfedksa dks fn, tkus okys izksRlkgu dh fofHkUu fof/k;k¡ 

dkSu&dkSulh gSa \ 

(b) Standard Time Allowed :    10 units per hour 

Normal piece Rate   ` 5 

Differential Piece Rate : 

80% of piece rate for output below standard 

120% of piece rate for output at or above standard 
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A produces 75 units in a day of 8 hours 

B produces 100 units in a day of 8 hours 

Compute wages of A and B under Taylor 

Differential Piece Rate System. 

ekud vuqer le; % 

10 bdkb;k¡ izfr ?kaVk 

dk;kZuqlkj lkekU; nj 5 `  

foHksnd dk;kZuqlkj nj % 

ekud mRiknu ls de mRiknu ds fy, dk;kZuqlkj nj 

dk 80% 

ekud mRiknu ls vf/kd mRiknu ds fy, dk;kZuqlkj 

nj dk 120% 

A Jfed ,d fnu esa 8 ?kaVs dke djds 75 bdkb;k¡ 

mRikfnr djrk gS 

B Jfed ,d fnu esa 8 ?kaVs dke djds 100 bdkb;k¡ 

mRikfnr djrk gS 

Vsyj ds foHksnd dk;kZuqlkj nj ds vk/kkj ij A vkSj 

B ds ikfjJfed dk ifjdyu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 

Answers of these questions must be restricted to 

two hundred fifty (250) words approximately. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj nks lkS ipkl ¼250½ ‘kCnksa ls 

vf/kd ugha gksuk pkfg,A 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Limitations of Mechanization of Cost Accounting. 

ykxr ys[kkadu ds e’khuhdj.k dh lhek,¡A 

2. Measurement of Labour Turnover. 

Je vkorZ dk ekiuA 

3. Causes of Over-absorption. 

vfr&vo’kks”k.k ds dkj.kA 

4. Principles involved in Calculating Profit on Incomplete 

Contracts. 

viw.kZ Bsdksa ij ykHk dh x.kuk ds fl)kUrA 

5. Two components X and Y are used as follows : 

Normal usage : 

600 units per week each 

Maximum usage : 

900 units per week each 

Minimum usage 

300 units per week each 
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Re-order quantity : 

X-4,800 units 

Y-7,200 units 

Re-order period 

X-4 to 6 weeks 

Y-2 to 4 weeks 

Calculate : 

(a) Re-order Level 

(b) Minimum Level 

(c) Maximum Level 

(d) Average Stock Level 

nks ?kVd X vkSj Y fuEufyf[kr rjhds ls mi;ksx fd, tk 

jgs gSa % 

lkekU; miHkksx % 

izR;sd dh izfr lIrkg 600 bdkb;k¡ 

vf/kdre miHkksx % 

izR;sd dh izfr lIrkg 900 bdkb;k¡ 

U;wure miHkksx 

izR;sd dh izfr lIrkg 300 bdkb;k¡ 

iqu% vkns’k ek=k % 

X-4,800 bdkb;k¡ 

Y-7,200 bdkb;k¡  

iqu% vkns’k vof/k % 

X-4 ls 6 lIrkg 

Y-2 ls 4 lIrkg 
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Kkr dhft, % 

¼v½ iqu% vkns’k lhek 

¼c½ U;wure lhek 

¼l½ vf/kdre lhek 

¼n½ vkSlr LVkWd lhek 

6. Need for Reconciliation of Cost and Financial 

Accounts. 

ykxr vkSj foŸkh; ys[kksa ds lek/kku dh vko’;drkA 

7. Write short notes on the following : 

(a) Perpetual Inventory System 

(b) Last in First Out Method 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ fujUrj lkexzh x.kuk 

¼c½ vfUre vkxeu igys fuxZeu i)fr 

8. Distinguish between Standard Costing and Marginal 

Costing. 

ekud ykxr fu/kkZj.k vkSj lhekUr ykxr fu/kkZj.k esa vUrj 

Li”V dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks with appropriate words or phrases : 

mfpr ‘kCn ;k okD;ka’k ds lkFk fjDr LFkkuksa dh iwfrZ dhft, % 

1. The total of all direct costs is known as ................. 

lHkh izR;{k ykxrksa ds ;ksx dks 
-------------------------------

 dgrs gSaA 

2. A statement showing different elements of cost relating 

to a particular product or a job for a particular period is 

called ................. 

,d vof/k fo’ks”k ds fy, fo’ks”k mRikn ;k dk;Z ls lEcfU/kr 

ykxrksa ds fofHkUu rRoksa dks n’kkZus okyk fooj.k] 
-------------------------------

 

dgykrk gSA 

3. ................ is called the expenses which change with 

changes in output, but not in the same proportion. 

os O;; tks mRiknu esa ifjorZu ds lkFk ifjofrZr rks gksrs gS a 

ysfdu mlh vuqikr esa ugha gksrs og 
-------------------------------

 dgykrs gSaA 

4. Under job costing, each job is assigned a ............... 

number. 

midk;Z ykxr fu/kkZj.k fof/k ds vUrxZr] izR;sd midk;Z dks 

,d 
-------------------------------

 la[;k ns nh tkrh gSA 

5. A provision made in the agreement to compensate the 

contractor for unwarranted increase in prices and for 

other contingencies is called ................ 
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ewY;ksa esa vizR;kf’kr o`f) o vU; vizR;k’kvksa ds fy, Bsdsnkj 

dks {kfriwfrZ djus ds fy, djkj esa fd;k x;k izko/kku 
----------------

---------------
 dgykrk gSA 

Indicate the correct answer-option : 

mŸkj ds fy, lgh fodYi dk pquko dhft, % 

6. Cost accounting gives information to the management 

for the purpose of .................. 

(a) Employee Welfare 

(b) Decisions 

(c) Efficiency 

(d) Profitability 

ykxr ys[kkadu izcU/k dks 
-------------------------------

 ds fy, lwpuk iznku 

djrk gSA 

¼v½ deZpkfj;ksa ds dY;k.k 

¼c½ fu.kZ;ksa 

¼l½ dq’kyrk 

¼n½ ykHkdkfjrk 

7. Closing stock of finished goods should be valued on 

the basis of : 

(a) Prime Cost 

(b) Factory Cost 

(c) Cost of Sales 

(d) None of these 
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rS;kj eky ds vfUre LVkWd dk ewY; fuEu esa ls fdlds 

vk/kkj ij fu/kkZfjr fd;k tkrk gS \ 

¼v½ ewy ykxr 

¼c½ dkj[kkuk ykxr 

¼l½ foØ; ykxr 

¼n½ buesa ls dksbZ ugha 

8. In which of the following industries process costing is 

adopted ? 

(a) Cement Industry 

(b) Chemical Industry 

(c) Cloth Mill 

(d) All of the above 

fuEu esa ls fdu&fdu m|ksxksa esa izfØ;k ykxr fof/k viukbZ 

tkrh gS \ 

¼v½ lhesaV m|ksx 

¼c½ jlk;u m|ksx 

¼l½ diM+k fey 

¼n½ mi;qZDr lHkh 

9. The process of charging the overheads of cost centres 

to cost units is known as .................. : 

(a) Absorption 

(b) Allocation 

(c) Apportionment 

(d) None of these 
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ykxr dsUnzksa ds mifjO;;ksa dk Hkkj ykxr bdkb;ksa ij Mkyus 

dh izfØ;k 
-------------------------------

 ds uke ls tkuh tkrh gSA 

¼v½ vo’kks”k.k 

¼c½ vkcaVu 

¼l½ vuqHkktu 

¼n½ buesa ls dksbZ ugha 

10. Selling Price = Cost of Sales + .................. : 

(a) Prime Cost 

(b) Profit 

(c) Cost of Production 

(d) Factory Cost 

foØ; ewY; = foØ; ykxr + 
-------------------------------

  

¼v½ ewy ykxr 

¼c½ ykHk 

¼l½ mRiknu ykxr 

¼n½ dkj[kkuk ykxr 
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